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Shlomoh decreed, etc. — 591D 9T TR

Overview

The xn3 discusses who made the 7> 1. The X723 (initially) rejected the view that 597
'R were 13 that 772170 which came into contact with ano 0°7°, they are *Y?2n (meaning we
do not eat it and we do not burn it) and *Xnw 597 7170 were T3 (in the 127 1"™) to burn it,
because X97°X stated that the initial decree of 0°7> was for 17w and not 7710, Therefore,
concluded the &7n3, *Xnw 9777 were N but it was not accepted and R 997 >7°n%n were
ana and 177037 192p. The R then asked, but 725w was 2113 on 2°7°, and the X3 answered
that mn7w was M1 only for o°w7p, and the 127 n"> was for 77N, Our MdOIN revisits the
previously rejected answer regarding 1°71.
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And now (that 715w was 213 on 2>7 for 2°w7pP), it was not necessary to answer previously,
that they (%71 °Xnw) were 2113, but 3799192 Y92p XY, but rather we can offer the original

answer that they (777 *Xw) were n»n» 913, etc. and the 727 1" was 91w -
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And to answer the question based on s'X97°X statement that 75°7w% n7 12 nonn o°7,2 that
difficulty is no more because X5%°8 meant that the 257> which 7252 was 213 for WP,
that 713 was 78vw» ynbnn.3 However regarding the 727 '™ it is possible that 1n7°13 nonn
was M7n%. But the reason the X773 did not accept this interpretation is because it seemed

to the X7%3 that s'82®°R statement of 79w 17’13 NoN 0°7° was regarding the 2237 n'",
but not regarding 77w nm. ¢
[The above was from 251w nooIn| :[@%aws mpon]

Summary
If Xo9°X was referencing n?w n°1, we could have answered that m>n? 13 9201 Xnw.

Thinking it over

1. Why does mooin prefer the answer of 121 m?n% M1 1K, over the answer that 12 7K
3700 192p RN1?

2. Why did the x7n3 assume that X5%°X was referencing the 7127 1" and not 717w n7°1?

! See ‘Thinking it over’ # 1.

2 See ‘Overview’.

3 The order would be then (according to what '01n is suggesting now); first 77w was 1 on 2°w1p? 2°7 (for 9™V as
XOPR stated), then 97771 *Riw were 113 on 717n? 2°7° for 1710 and then the 127 1" were N3 on 710 2°7° for 79 W.
4 See ‘Thinking it over # 2.
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3. Even if X99°X is referencing the 127 n'™, we can still say that 725w was wTp? 0°7° T3
mbn% and 990 RAW were NMIW? WTIPY 2°7° N3 and the 127 7" were MWD 7MN7 27 N3
as X02°X said (and we still do not need to say 17 172 891)?°

5 See NX NoOW.
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